Tree height [m]

CO; estimation table for broadleaf trees

Broadleaf trees: estimating the amount of carbon dioxide (CO.) in kg that the tree has removed from the atmosphere in its lifetime
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Tree height [m]

CO; estimation table for conifers

Conifers: estimating the amount of carbon dioxide (CO,) in kg that the tree has removed from the atmosphere in its lifetime

|3 0)= ]3|

-
—

B2 ) e o o o e e e e 0 2 8 2 2 3 3 o 3 0

71 81 9110!11[12113114 15/16[17 |18 19120!2‘l122123124125126127128129130I 31132133134135136137138139[40!‘1142143144145146147148149150IS‘I152153154155156157158159160

7| 8| 9I1oi11]12113]14]15]16117]18[19Izol21Izszs]za]zslzslnlzslzsl3ol 31|32|33|34]35/36/37/38|39/40] 41]42]43]44|45] 46| 47| 48] a9|50] 51|52|53] 54| 55| 56|57 | 5859 |60
Tree diameter at 1.3 m height [cm]




